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1. This Booklet consists of four objective type tests : Test | ~ Reasoning Ability, Test 1T - Numesical Ability,

Test 1l - General Knowledge and Awareness of Current Affairsand Test 1V ~English Language. The total duration of these tests
is 2 hours and there are no separate time {imits for each of them,
T R SRS N WA | - 7 2, BT 1] - e 9, WeE-T1 (1] - S T T e ame 5
IEER T TA-TE [V - 3w | g wml 20 & v R S nwmn-sm s dm iRy

2. All questions carry equal marks.
wfiwr S smEAE |

3. Onthe topof the cover page of your Test Booklet towards the left. Test Baltery Number is printed. Write this number in
your answer sheet al the appropriate place.

TR - F S 7% W S 9l @R viem A S sen odt } ) @ o Iwm-ys A sgm wE W
fafta |

4. Below the Test Battery Number in your Test Booklet, Test Form No. is printed, write this number in the box for Test Form
No. in your unswes-sheet and durken the apprapriate circles in it by your F.B. Pencil,
et The-giEe  d2d - & R e e den ot R, I Fen W ama Iw-g ¥ e ey den s ge i
Tt 7en =% T oy g =1 gL YRe | w wiw
5. Onihe cover page of your Test Booklet towards right, Booklet Su!es is printed, write this inthe box for Booklet Series in your
answer-sheet and darken the appropriate circle below it by the H.B. Pencil.

ST T o i e i o | A w8 e o e e
T 3w AR TG 0w @A), HRm B} wen =i |

6. Below the Booklet Series in your Test Booklet's cover page, Test-Booklet Serial No. is printed in red ink, write this number inthe
space meant for Test Booklet Serial No. In your answer-sheet.
Iy G- gie % A TS W S e S iR, e gt we e v e 8 29 2, 18 o sw-rs | fuffe s
w fafEn |

(Continued on back of the last page.)
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Test -1
Reasoning Ability
A -9 - ]
eh Al
Directions (Q. No. 1-5) : Find out the correct answer out of the four alternatives given below each
question and then mark it in your answer sheet.

W (vd. 1-5): 795 3 1 6 I 39 A4 R 33 9w el A 3 v Bwen siew 3 w0 aw R wE aw
T g3 A offea F= |

|. Ice : Coolness : - Earth : ?

(1) Forest (2) Weight (3 Gravitation (4) Ocean

few - hteetan -« gt ?

(1) = (2) Wm (3) TR (4) TETETR
2. Coconut : Shell : : Letter : ?

(1) Mail (2) Letter-box (3) Stamp (4) Envelope

e @ 9 ?

(1) 3/ (2) wE-a9a (3) =m-fewe (4) forra

3. Income is related to profit in the same way as expenditure is related to

(1) Loss (2) Surplus (3) Balance (4) Sale
2 =N @ 36 TR gt e e g eEtE R
(1) gix & (2) F=9ad (3) f98 (4) s

4. Much is related to many in the same way as measure is related to

(1) Calculate (2) Count (3) Weigh (4) Measurement
fom van aga g=fa 8 3% W 36 ¥R u vt @
(1) feam @ ) (3) daR (4) TR A

5. Clue is related to Mystery in the same way as warning is related 10

(1) Precaution (2) Disaster (3) Risk (4) Danger

T % 5 @ 36 Y wag @ R e S % Eey 3
(1) TEuE | (2) merETE & (3) Sifan g (4) @A
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6. Find the oddman oul.

o g w0 |
(1) MOndAy (2) WUESdAy
(3) WEJNESdAYy (4) thUrSdAy

7. Three of the following four are alike in a cerntain way and hence form a group. Which is the one that
does not belong to the group ?

i el eRITME TR I TR EHEEi e ?
(1) CUSTOMER : SGPSYYBK (2) INTEREST : UUHVIYUQ

(3) OVERSEAS : TCHWWKCW (4) BANKING : HPLOSGI

8. Three of the following four have similar relationship and hence form a group. Which one does not
belong to the group ?

PR i i - W i W R R | FA W E IR TR A T |
(1) PROFIT : RPQCKR (2) OTHERS : QRICTQ

(3) LEGUME : NCISOC (4) CANKER : EYPIGP

9. Three of the four groups of letters given below are alike in a certain way while one is different.
Choose the odd one.

s FRARmegidd FioriwRIF Eamimdiatet | Fmae f,
1 7 \

(1) GWOURV (2) LZKMSU (3) JOEHNP (4) SFXPMG
10. Three of the four groups of letters given below are alike in a certain way while one is different.
Choose the odd one.

A 5 A R g g A A A Rl w & o 42 ot @ 9 wew A A A A e d | R T
7

(Hnmw - (2) MS (3) FT (4) JU

111 S A
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Directions (Q. No. 11-15) : Find out the missing term in the following letter-number series :

fw (38, 11-15): 79 A 70 sg-vem Jawst § 9= 7 7\ w1

1.

12,

13.

14.

16.

17.

111

H4W. 118V, K48T N 100Q, ? W 204 H
(1) P 1485 S (2) R 180 M (3) S 198 1 (4) T 206 K

1ED,2FD.3KH, ? .I5KG,48KF
(1) 12 PX (2) 6 RI (3) 9LV (4) 8 TQ

M4, T7. P7. Q10, Si0. N13, ? , K16
(1) V4 () K7 (3) T 13 4) G 15

RSP, T6M V9J X15G, ?
(1) AI2L 2 118X (3) Z25D (4) U20Q

.DGKO, GKP3, ? , PVCIS

(1) GKV 5 (2) KPV & (3) PVZ9 (4) KPU 11

If the first 6 letters of the English Alphabet series are written in reversed order, then the next 6 letters
are wrilten in reversed order and so on, and at the end Y is interchanged by Z. then which letter is
fourth letter to the right of 13" letter from the left ?

4% 290l R Foiaren & waw 6 er Ayl w1 e B o, T ans 6 s faalia s | e 23 ol vl it
TER, AN A Y B Z ¥ Faded B R 9, 98 99 | ated e 9 26 o ¥ S S sm i e 2

(1 M (2) N (3)Q 4) P

If the English Alphabet series is written in the reverse order and every alternate letter starting from Y
is dropped, which letter will be exactly in the middle of the remaining letters of the Alphabet series ?

7 s ) Foinen % fAavle =9 1 w98 591 Y 9 0 S8 TS Ut 19 F 2ig Far s, & 3viEen
F W B e % Hoee de1 |9 B9 91 S Em 7

(I) L 2) O 3 M (4) N

. If the letters in each of the following five groups of letters are first rearranged in the alphabetical

order and then the groups of letters so formed are rearranged as in a dictionary, which letter group
would have its group of letters in the MIDDLE among the five letter-groups ?

MR AR IR TEF RS I A R e s F i g R IR e wm R @
FGUHHET T VeTE * AR HHAG B & T, 9 F F HEung % 3 vie ove wg 4 #ie) et
MEET, DEAF, ROAD, CODE, LACK

(1) LACK (2) MEET (3) ROAD (4) DEAF

-5- A
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Directions (Q. No. 11-15) : Find out the missing term in the following letter-number series :

B (vd. 11-15); 73 @ gt ssm-wem Jaawd ¥ 9@ 98 39 #a |

I

12.

13.

14.

15.

16.

17.

18.

111

H4W, 118V, K48T NI100Q, ? W 204 H
(1) P 1485 S (2) R 180 M (3) S198 1 (4) T 206 K

1 ED, 2FD, 3 KH, ? L 15KG,48KF
(1) 12 PX (2) 6RI (3) 9LV (4) 8 TQ

M4, T7, P7, QI0, S10, NI3, ? . K16
(1) V4 (2) K7 (3) T3 4) G 15

RSP, T6M, V98I XI5G, ?
(1) Al2L (2) 118X (3) Z25D (4) U20Q

DGKO, GKP3, 7 . PVCIS
(1) GKV 5 (2) KPV 8 (3) PVZ 9 (4) KPU 11

If the first 6 letiers of the English Alphabet series are written in reversed order, then the next 6 letters
are written in reversed order and so on, and at the end Y is interchanged by Z, then which letter is
fourth letter to the right of 13* letter from the left ?

72 FHuel i aven & v 6 s Rnlla s i e B odl, IR s s i i e R w
YER, 7 A Y 1 Z 8 ey F v, g A @ 3wd g A g ol d S s amwmEm ?

(M (2) N (3) Q 4y P

If the English Alphabet series is written in the reverse order and every alternate letter starting from Y
is dropped, which fetter will be exactly in the middle of the remaining letters of the Alphabet series ?

afe st & Sviven 1 fvda =u 6 Ry 9@ am Y 8 90 50 YT Thal s S o B W, & avinen
¥ gl 39 Al & faerge A9 A9 B9 W @ Em 7

(H L (2) O (3) M (4) N
If the letters in each of the following five groups of letters are first rearranged in the alphabetical

order and then the groups of letters so formed are rearranged as in a dictionary, which letter group
would have its group of letters in the MIDDLE among the five letter-groups ?

af2 = 23 g3 vie Set agE T WF F HE F e quinmen & w9 § wnag = e 9 s R il
HEF TR T TeRHN h ATHR FHE o G T, 61 A F 396 TR e aiEi sven wepg o A= e
MEET, DEAF. ROAD, CODE, LACK

(1) LACK (2) MEET (3) ROAD (4) DEAF

5. A
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30. How many such vowels are there in the above arrangements, each of which is immediately preceded
by a digit and immediately followed by a consonant ?

ImRR iR R R s ST e G aR AN g AR e g 1
(11 (2) 2 (3) 3 (4) 4

Directions (Q. No. 31-34) : In the following coded arithmetic equations certain symbols are used with the
following meaning :

L P A Q means add P o Q:
[I. P[OQ means substract Q from P;
III. PO Q means multiply P with Q; and ¢

IV. PO Q means divide P by Q.
Now study the given information and answer the question following it.

Three persons A, B and C complete a work in 20 days. B and C together are 4/3 times as efficient as A
and B together. On the other hand A and C together are 5/4 times as efficient as B and C together.

A E M) FefRE i el im e R R
L PAQ®aed PRIQATAAE;

I POQ Mamd Q® PHATHAR;

M. POQ MR PHQ FFUM=FAIY; &

IV. POQ o PHRIQ Bum A ¥4

AT S R i mw R R E e

AT AB ECHFEH 0 IWHFIEIBE Cou-vuFd =34, AW B & a9-09 54 & §
BT FE Y I I ANA W CIY-IN FH T E, B E CHFIN-FY FH A 54 Tngoa €1

31. Which of the following equations represents the number of days in which A alone can finish the

same work ?

friishaaiFus FA A mdest Ao wsd w7
(1) 24020 Q4 020) (2) 30 020 (30 A 20)
(3) 30 ©20 O (30 J20) (4) 40020 O (40 O 20)

111 -8- A
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32.

34.

35,

111

Which of the following equations represents the number of days in which B and C together can

finish the same work ?
fridsrmurmFfH s aami i Bd Con-me s FE wad ww asa )
(1)24003 A )04 2) 200012006 CQ 3

3)y2000120605 (4) 40 020 O (40 7 20)

. Which of the following equations represents the number of days in which A and B working together

can finish the same work 7

it g F AT i AE B - T s F el R asa 6 |
(1) 2003 A304 (2) 40 020 O (40 120
(3) 20020605 (4 200120603

Which of the following equations represents the number of days in which A and C working together

can finish the same work 7

feidsn ol @ fE A dama o AG Cm- sy sd s Red e asi € 7
(1) 90020 Q (40O 20) (2)200(1206) 05
(3) 2000 A 3)04 (4) 2000120603

A travel towards East. B travels towards North. C and D travel in opposite directions. D travels
towards right of A. Which of the following is definitely true 7

(1) B and C travel in opposite directions (2) C travels towards West

(3) D rtravels towards North {4) B and C travel in the same direction

A T8 1 3R T @ B | B IWH A g e 81 C W@ D ot e # amn wwa 1D, A ol ain
ymwa | e S R i w7

(1) BE C favls Reefi d o= € (2) Cuffm & D am = d
3) Dmﬁmmma (4) B@W Casft B g g s
9. A
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36.

37.

38.

39.

111

A cow runs 20 metres towards East and wms to right, runs 10 metres and turns to right, runs
9 metres and again turns to left, runs 5 metres and then tums to left, runs 12 metres and finally turns

to left and runs 6 metres. Now which direction is the cow facing ?

(1) North (2) East (3) South (4) West

U T 20 Hi2x A Hi R Drea 26 37 gy Wt R FR 10 e e < sl e vl &, a9 e dem
a7l AR T Wl B, 5 iz <redl 2 a1 aF A S e I €, 12 i dedt @ o o F ald s e 6 e
Ao mam s R AR 7

(1) I (2) 7= (3) f&m (4) ufEm

A boy started walking positioning his back towards the sun. After sometimes, he turned left, then |
turned right and then towards the left again. In which direction is he going now ?

(1) East or West (2) North or West  (3) South or West (4) North or South

W T 4 Jd H 3R A T3 I T e Fea | 5 whe TrET a8 Aid) A g, 21 S e A e
afdt 3 e 1 98 o e R d s R 7

(1) T& 7 ofRm (2) I 71 9fm (3) =t o afem (4) v 2w

If Thursday was the day after the day before yesterday five days ago, what is the least number of

days ago when Sunday was three days before the day after tomorrow ?

afg vie T v o9 @ e B9 S v geefEm s R o, o 9w 59 % o g (3 8 f B wes e
Fud s A a7 6

(1) 1 (2) 2 (3) 3 (4) 4

In a row of boys facing North, a boy is thinteen from the left. When shifted to his right by three

places, he becomes seventeenth from right end of the row. How many boys are there in the row ?

I T 1 g 90 93 g2 oeF 91 G 01 H, T wew aidl AR A deal 21 ot < o i v wee W
a8 Tt H 2 oR A AR Bl I B | Tre A e w=R € 7

(1) 32 ‘ (2) 31 (3) 33 (4) 30
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40,

41.

42.

43.

44.

45.

111

136 vehicles are parked in a parking lot in a single row, After the first car there is one scooter. After
the second car, there are two scoolers. After the third car, there are three scooters and so on, Work
out the number of scooters in the second half of the row.

BT v i i3 1Tdamsmead IwmFmaaat |
et & = 19w € ik | O F o o R A wmal B den g w0

(1) 61 (2) 62 (3) 63 (4) 64

Three of the following four are alike in a certain way and hence form a group. Which one of the
following does not belong to that group ?

i i cRighli s 1Fr-aemaei@@3?
(1) 7 (2) 9 (3) 17 (4) 33

Choose the odd numeral pair in the following.

e % Fem demors 7w I =

(1) 140-45 (2) 120-35 (3) 110-35 (4) 80-25
Choose that set of numbers from the four altemative sets, that is similar to the given set.

I S FRdwAeTwS AP R IWE
Given set : (246, 257, 358)
ﬁmgmﬁz:

(1) (145, 235, 325) (2) (143, 253; 246) (3) (273, 365, 367) (4) (233, 343, 345)

Choose the one which is different from the rest

wEEIAFMA A A = )
(1) 248 (2) 326 (3) 392 (4) 414

Three of the following four are alike in a certain way and so form a group. Which is the one that

does not belong to that group ?

frmiddi s IR EegaRi 1T ERIEi !

(1) 156 (2) 152 (3) 72 (4) 42

-11- A
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4
Directions (Q. 46-50) : In each question below. is given a statement followed by two assumptions
numbered I and 1. An assumption is something supposed or taken for granted. You have to consider the
statement and the following assumptions and decide which of the assumptions is implicit in the statement.
Give answer : (1) if only assumption 1 is implicit; (2) if only assumption II is implicit; (3) if neither I nor
11 is implicit; and (4) if both | and II are implicit.
¥ (93, 46-50) : 1= 2 g wow v ¥ ww T e e R e AR @ oo e 1w 11 deaiea R
w3, Al 3 ) v g arn @ ge-a aewEa S R o s # | e e G sae e g wammsi
1 o o @ Fiofa S 2 B = o e e | i R )
w I E : (1) 3R FaEw wawon | 53R § 5 (2) 7R e g 11 s=tifa ? ; 3) 3R 3 A waon 13 a
e [ sraFEa §; @ (1) aft < ool swafifa € ) |
4¢
46. Statement : To achieve economic development, people should work hard.
Assumptions :
I) Achieving economic development is desirable.
1I) Working hard is not impossible.
o= ; e faem % Femea & o =afwdl =1 5l wiom =@ =aifgd )
T
I) snfis R = fena aisfm 2 |
1) (23 wftem w00 s @ 2 |
| [
' 50

47. Statement ; He is too industrious to be poor.
Assumptions :
[) Very industrious people also can be poor.
II) Very lazy people also can be rich.

ey e 8 ) e ow smsEEl i R )

‘Ehﬂ"l’l’a:
1) 9ga sreaea) =hE i T sl asa €
IT) 53 31erd] =31 f oTeg 8 g 2 |

111 <12 A 111
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48,

49.

- 50.

111

Statement : Visitors may use lift at their own risk.
Assumptions :
1) Using lift is not always safe.

1) Visitors do not want to use Jift.

e A S @ f) i W R F IR S e

uﬁmwrﬁ:
1) foroe @ 39am Fon w3 gfde T R |
1) 3ras o = Ieam wo 7 =9ed |

Statement : This book is so designed that even a layman can easily learn science in the absence of a
teacher.

Assumptions :
I) Learning science by everybody is desirable.
II) A layman generally finds it difficult to learn science on his own.

e : 9 U6 T8 TR TR 6 i R B Tt s 3 e v o Renwmm d wwwa §
Wﬂa:

1) frgm ve vds & R aredig @ |

1) T S HEIE @ 9 % 3R e & orera ¥ e wenm wa € )

Statement : Although the rates of this hotel are comparable with other hotels, the amenities provided
here are far superior.

Assumptions :
I) Rates are independent of amenities provided.
II) Rates are dependent on amenities provided.

awed : Fafi 38 dea ) 2 gat Eiesll & W gerETers 8, 98] wie el g aga A €
e -

1) =t W gaTedt gl w smnfa @ E

11) =t e el o st €

-13- A
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Direction (Q. 51-55) : The President of a club is appointing nine officials A.B.C, D,E,F. G.Hand I to0
serve on three committees to study three different aspects of activities of the club. There will be a Games
Committee, a Food Service Committee and an Entertainment Committee. The appointments must respect

the following :

Each committee must have exactly three members.

No person can serve on more than one committee.

H must serve on the Entertainment Comimnitlee,

C and D must serve on the same commitiee.

A and B cannot serve on the same commillee. |
E cannot serve on the same committee as [

F must serve on the same committee as B or H or both B and H.

3 (. 9. 51-55) : @& 5o &1 oAy o wiifidl w56 & 5 S wefehE A B.C.D.ELF.G.HE |
# FafFa o= A vl & e e wsli s semsa s RE? | wea ki saniaE
TR wfite grlt | PRt = P i ol el wel

~ Wl wfaty  Fifve w98 o ae g =fed |

~ &1 f) e o afifa @ it el 4 28 @ wwan )

- H weireem wiifa o v =nfed o

- Cwd D g afufy d §m wifd )

- A vE B wEe wiEfa § 4 8w |

- E 3a gftfa # 98 8 v fed 180 |

- F 3a aftfa ¥ g =nfed el Ban Han B od HAR1 20 |

U

51. If B and G serve on the Games Committee, which of the following must serve on the Food Service

Committee 7
afz B @ G @ wfufa # 8, 9w oy afif 8§ e dnafd

(1 A (2) D 3) E @) F

111 -14- A
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32,

53.

54.

111

Which of the following groups could constitute the Games Commitiee 7

fidsrm o an s anawmd ?

(1) A;B,E (2) A.D,G (3) C,HLE (4) F,.1,B

If A is assigned to the Food Service Committee and C is appointed to Entertainment Committee, then
which of the following must be wue ?

I. G is appointed to the Food Service Commitiee.
I1. E is appointed to the Games Committee.
1L 1 is appointed to the Entertainment Committee.

(1) [ only (2) I only (3) 1 and 111 only (4) 11 and III only

afk A PrgfF @ da wiifs @ C 9 FgfR wiss afif i |, @ e d @ S am s afEd
I G& Fgf a dm R S RAB W |

I. ERfafRagaeifcs A A |

. 1H g e s/ H i

(1) ¥ 1 (2) FFa 1 (3) = 1§ 11 (4) Fam 0w

If F serves on the Food Service Commitiee and C serves on the same committes as H, then which of
the following must serve on the Games Committee ?

I A
LG
I I

(1) 1 only (2) I only (3) I and 11 only (4) 11 and HI only

of¥ F g da w4 2 e C sa wfife 3 2 Rl HE, o0 P i & s g afif 3 dmofd 7
I. A

I, G

I I

(1) ¥ 1 (2) Fad [0 (3) == [W (4) Faa @

-13- A
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55. If I is on the Entertainment Committee and B is on the Food Service Committee, then which of the

following must be true ?
(1) F is on the Entertainment Commiltee (2) C is on the Games Committes

(3) G is on the Food Service Commitiee (4) F is on the Games Committee

R IFEE IR e Bumdn g2 oo, Ao dd Srmam Ry 7
(1) Foamsatifadg | . (2) Camgmfadd
(3) GEaamaRfE i ) (4) Feaghfadd |

Directions (Q. No. 56-60) : Letters of certain words have been rearranged and the jumbled spellings
have been given below. Out of the choices given below each question, choose the last letter of the

correct word,

P (¥, 9. 56-60) : T3 Rl F A& %) @0 SHaiEE F 41 77 § w1 T mERn wd AR A mh §
W W A R g el & vl e W oifam s R |

56. AYDOT

(M A (2) D )T @Y
57. ILCEOP

(1 c ) E 3L (4) O
58. CAPCET

() A (2) € @) P 4T
59. VISERL

() E (2L (3) R “) s
60. ERVSECI .

(HE )1 (3) R (4) S

111 -16- A

I
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61.

62.

63.

64,

111

Test ~ 11
Numerical Ability
-3 - I
dEgrens arradi

Which of the following numbers is exactly divisible by 99 7

= 1 3 g T 9 99 @ ol ww & Ry T s wwar 2 7

(1) 114345 (2) 135792 (3) 3572404 (4) 913464

In a division sum, the divisor is 10 times the gquotient and 5 times the remainder. If the remainder is
46, the dividend is :

71 % G N, W WA 1 10T E TN H S TR 1 IR 946 R, M ura d
(1) 4356 (2) 4816 (3) 5096 (4) 5336

On Ist January every year, a person buys N.S.C. (National Savings Certificates) of value exceeding
that of his last year's purchase by Rs. 100. After 10 years, he finds that the total value of the
certificates held by him is Rs. 54,500. Find the value (in Rupees) of the certificates purchased by him
in the first year ?

U iR el S i Sem 9l e g sl A aliz R 100 vl sRE ST s atem t 1 s
TFETE 36 9a1 o B TEs T e wee 1 8, R oo $ia 54,500 T R | 993 waw 9 Feadl e (v
H)F g waEle ?

(1) 4,000 (2) 4,800 (3) 5,000 (4) 6,000

A tennis ball rebounds each time to a height equal to one-half of the height of the previous bounce,
if it is first dropped from a height of 8 meters, find the total vertical distance (in meters) it has
travelled when it hits the ground for the 10th time.

¢ i v T2 vem a9 a9 R so ) S 8 ol S F sue sueEr died 2, oft @ weitan 8 i
51 S @ i e, <t 5@ w10 off an e @ 0 7@ 992 T el satwgd (FmE) A ?

(1) 21.969 (2) 22.969 (3) 23.969 (4) 24.969

-17- A
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67.

68.

69.

111

|
_ 1 52 4
TheL.C.M Of "3-‘8'09-'2—?- 15
1224 1 AYTH WG 2
36927
1 10 20 27
(1) 54 (2) 77 (3) 3 (4) Y
4.8438 +0,069= ?
(1) 60.2 (2) 69.2 (3) 70.2 4) 712
0.3467 +0.1333= ? l
(1) 0.48 (2) 0.4801 (3) 048 (4) 48
In a certain city there are 5 colleges and 20 schools. Each school has 3 peons, [ clerk and | head

clerk, whereas a college has 5 peons, 3 clerks, 1 head clerk and an additional staff as caretaker. The
monthly salary of each of them is as follows :

Peon = Rs. 1,100 ; Head clerk = Rs. 3,000, Clerk = Rs. 1,700, Caretaker = Rs. 2,500. The total
monthly salary bill (in Rupees) of Schools and Colleges of the city is :

THFRE 5§ Fiors 0@ 20 T 3 | WE wpa 1 3 IwE, | fafs v | g fofre d, safs wm aies i s
sl 3 T, | yea fofts @ o wiftfes = Faes R | 3  wes % i S frm 8

TRl = 5. 1,100, 9e2 fafis = 5. 3,000, Bfds = % 1,700, 3029 = 5. 2,500 | TR F w5 UE Herwi &
e it et o (e ) Fren 8 7

(1) 2,10.800 (2) 2.20.600 (3) 2.30,400 (4) 2.40.500 LA

| 1
What fraction must be subtracted from the sum of 2 and s have an average of 1L2 of all the
three fractions ?

PPN %mmmm%m %@ é ¥ 1 8 B P e o 7

ll 2l 3}-1' 4l
()2 _ ()3 ) 3 (}6
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70. The value of JO.A is :

71.

72,

A

74.

75.

111

J04 e
(13 0.2 (2) 0.02 (3) 0.63 (4) 0.51

A team of 8 persons joins in a shooting competition. The best marksman scored 85 points. If he had
scored 92 points, the average score for the team would have been 84, The number of points, the
team scored was :

8 =il € v 2w 7w Sl wiedif § am R | ged 91=3 giean 3 85 uiee v B 1 aR wet 92
g Wi R 21, I siea wrais 84 1 | i R T wa g 7

(1) 645 (2) 665 (3) 588 (4) 672

The sum of three numbers is 136. If the ratio between first and second be 2 < 3 and that between
second and third is 5 : 3. then the second number is :

s dEmai A 136 2 | 3R el v gl % i W sEme 20 3 @ 9 o Wi % e aeE 50 3
%.a’ig@ﬁm%

(1) 40 (2) 48 (3) 52 (4) 60

A is as much younger to B as he is elder to C. If the sum of the ages of B and C is 48 years, what is
the age of A in years ?

ABavdismRNen FRCATR | MBE CRNagsimam 48 =i, S AN g B wd 2 7
(13 20 (2) 24 (3) 30 (4) 32

1
If fm? + (325 =81, the value of m is :

!
3 [3m3+(3“‘}2]3=8!,m?mm2:
(1) =3 (2) -6 (3) 3 (4) 6

p is six times as large as q. The percent that q is less than p is
pais: MaEm2 g pi ke sne 7

(1 83—% @) 16% (3) 90 (4) 60
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76.

717.

78.

79.

80.

111

The income of a broker remains unchanged though the rate of commission is increased from 4% lo
5%. The percentage of slump in business is :

T T ) AW A S i 7 gen 7l wie i w7 4% R 5% 9% 8 v | =mam ) e afa e 7
(1) 10% 2) 15% (3) 20% (4) 30%

A man purchased 35 kg of rice at the rate of Rs. 9.50 per kg and 30 kg at the rate of Rs. 10.50 per
kg. He mixed the two. Approximately, at what price (in Rupees) per kg should he sell the mixture to
make 35% profit in the transaction ?

v = 3 35 f5am, 9me 9.50 % 9f f6.m. i wawn 30 B, 10505 3. B, m. fi @ wlm | 3@
%! firen a1 s 9R A 35% o W & & TR 3 o =8t vl L ., e o e (v ) mAR 7

(1) 12 (2) 12.50 (3) 13 (4) 13.50

A book is listed a1 Rs. 150, with a discount of 20%. What additional discount must be offered 10
bring the net price to Rs. 180 ?

U FF W W 20% A ge R, 150 %, qea orar | 96 TR # 92 0E9 180 % o A % T e
Hfafeda e dsm ?

(1) 8% (2) 10% (3) 12%% (4) 15%

and its perimeter is 104 cm. The length of the longest

=

11
The sides of a triangle are in the ratio 53

side (in cm.) is :

F \FIG H § au I TR 104 AR, R | wed et e i wend (R ) R -

Wl | -

1 1
el Brge 1 vl 237
(1) 26 (2) 32 (3) 48 (4) 52
X, Y and Z were sharing profits in the ratio 4 : 3 : 2. Y retired from the firm and X and Z decide 10

share profits in the ratio 3 : 2. Calculate the gaining ratio.

X Y@Z 4:3: 2% madamakzR 4 |Y o 3 dafian 81 w9 X w@d 233 - 2 % oigam § o aled
=1 o o | e € et @ e P |

(1) 7:8 2) 5:9 (3) 4:7 (4) 5:8
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81.

82.

83.

84.

85.

111

15 men take 21 days of 8 hours each to do a piece of work. How many days of 6 hours each would
21 women take, if 3 women do as much work as 2 men ?

15 s 8 o= Tern wE w0k e w9 21 e R wmae 19k 3 ufkad sen @ v =9 2 e 2
T B A 6 T Do e 21wl 39w 9 R R it oo 7

(1) 18 (2) 20 (3) 25 (4) 30

A man goes uphill with an average speed of 24 kmph. and comes down with an average speed of 36
kmph. The distance travelled in both the cases being the same. The average speed (in km/hr) for the

entire journey is :

w wiE Rt il Faw 24 Bl /g B ol i A e d AR 36 Rl jym Rl A w2 )
2 T gt A B | 9 g A shem il (B /ee) 2

(1) 30 (2) 28.8 (3) 32.6 (4) 30.8

A train overtakes two persons who are walking in the same direction in which the train is going, at
the rate of 2 km/hr and 4 km/hr, and passes them completely in 9 and 10 seconds respectively. The
length of the train (in meters) is :

& Yed) 2 sfEed @ W e R i 2 Bl /e o 4 Bl /e, R S we @ E R R endt
R, s Ed R A EAe: 9@ 10 dfvs ¥ 3T 1@ v T AR R | T ) e (e d) R+

(1) 72 (2) 54 (3) 50 (4) 45
The speed of a boat in still water is 15km/hr and the rate of current is 3 km/hr. The distance travelled
downstream (in km.) in 12 minutes is :

i mAfinawwink IsEdA/auidauEr R = Fil/ga t | Rl H fniwad
g (B AL AR

(1) 3.6 (2) 24 3) 1.2 (4) L.8

A sum of Rs, 36.90 is made of 180 coins which are either 10 paise coins or 25 paise coins. The
number of 10 paise coins is

WA 6N TR FFA I RFINA I0RFSETN 2B W/WFE 1 10 R 5 = figen:
(1) 54 (2) 60 (3) 80 (4) 120

-21- A
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86. A money lender finds that due to fall in the rate of interest from 8% to 7:1- %. his yearly income

diminishes by Rs. 61.50. His capital (in Rupees) is :

FHEREATH ISR W Tt RS %3 T%%ﬁaﬁzﬁimmﬂmﬁﬁmﬁ 6130 %.
6w B I 2 1 3wh S (FEiE) R
{1) 26000 (2) 24600 (3) 23800 (4) 22400

87. The compound interest (in Rupees) on Rs. 5,600 for Rs. 1-% years at 10% per annum, compounded

annually, is
10% Wi =1i¥s = ) =0 @, < i waifem 2 &, 5,600 2= 1_;'. 8 w1 Oskgie =T (wedi ) Fnem 7

(1) 882.70 (2) 873.50 (3) 868 (4) 840

88, If one side and one diagonal of a rhombus are 5 cm and 8 cm respectively, then its area (in cm?) is ¢
o7e el e A o wen o o el e S Rf. wd 8 A, €, 79 o dawa (R H) }
(1) 20 (2) 24 (3) 40 (4) 26

89. Half meter cubic gold sheet is extended by hammering 50 as to cover an area of one hectare. The
thickness of the sheet (in cm.) is ;

AT Hex SR T ) YT T RN FAE W T W ol gas § e T Semm vy (we i o
@h.H6) 3

(1) 0.005 (2) 0.05 (3) 0.5 (4) 0.0005

90. A hemispherical bowl of internal radius 9 cm contains a liquid. This liquid is to be filled into
cylindrical shaped small bottles of a diameter 3 cm and height 4 cm. How many bottles will be
needed (o empty the bowl ?

T 7T 704§ e Ed W R} 1 5 e ) i e 0 A, R | e e = Seen v o

dradl 3 YOS 8 | diael w1 er@ 3 A aw a4 4L R v 9 el ¥ Rl B dest B
I Bl ?

(1) 27 (2) 35 (3) 45 (4) 54

111 22 A
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91.

93.

94.

95.

111

Test - 111
General Knowledge and Awareness of Current Affairs
-3 - 111
AT I UE S AWl @1 SR

The system of judicial review originated in

(1) India (2) Germany (3) Russia (4) U.S.A.
s rEe e S YO ES
(1) wad (2) s (3) waH (4) 3. .09

Le Corbusier, the architect of Chandhigarh was a national of

(1) France (2) Switzerland (3) Portugal (4) Netherlands
T T ATGER ol FHIE R AT 91

(1) ¥ (2) wfwtets & (3) FETRI (4) Fresie®
The West to East extension of the Himalayas is from

(1) Nanga Parbat to Namcha Barwa (2) Rokaposhi to Lohit river

(3) K, to Chomoithari (4) Indus gorge to Dihang gorge

forea =1 vfem § e A o Bem R

(1) mda & T AR T (2) TFeTeh & i 74 @

3) A<M aE (4) =R & Tewe il v

The philosophy of Laissez faire is identified with

(1) Welfare state (2) Socialist state (3) Gandhian state (4) Industrial state
HETE T AT S T SR

(1) FRAOTE (2) emifswE T=ga  (3) ndfEd Tmd (4) A d

Who among the following non-members can take part in the proceedings of the Indian Parliament
without the right to vote 7

(1) Comptroller and Auditor General of India (2) The Chief Justice of India

(3) Attorney General of India (4) Ex-Speaker of Lok Sabha

13 3 o e, e Sen F S arfr i fisdedi dym S wsa g 7

(1) = % oen fge v aan Was (2) WA 1 e =T

(3) WA 1 Y9 ETE (4) & FNFE ey

33 A
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96.

97.

98.

99,

100.

101.

111

(AR

Who is the author of the book ‘Speaking for Myself® ?

(1) Cherie Blair (2) Salman Rushdie (3) Mohammad Hanif (4) Hillary Clinton
‘o G TEEeE EE S @R I © ¢

(1) =4 fRa (2) FEREE | - (3) TR TS (4) et e
Who among the following won the “India open Grand Prix Badminton Championship™ held in April,
2008 ?

(1) Thailand (2) India (3) England (4) China

e & & forad e, 2008 # g 1 v wis Rrw Az IR S 7

(1) = (2) = (3) T2 (4) s

Silvio Berlusconi, whose name was in news recently, is the

(1) President of Italy (2) President of Germany

(3) Prime Minister of Italy (4) Prime Minister of France

forefyeh s, R 7w wrad 8 savem | o1, €

(1) et & Ul (2) R F gl (3) el F waEwE (4) SR F vgEE=

When is International Women's Day, and United Nations Day for women’s Right and International
Peace celebrated 7

(1) March, 4 (2) March, 8 (3) March, 12 (4) March, 15
sTeRTE iR fiaw w Aivensit % arftEm v o Wi ¥ R vaw o e s e g ?

(1) 7, 4 (2) wd, 8 (3) =, 12 (4) w15

Into how many parts is the Indian constitution divided ?
s Sfeum e vt | Rl B 7
(1) 18 (2) 21 (3) 22 (4) 24

BMD which recently came into news stands for

(1) Business Management Development (2) Ballistic Missile Development

(3) Ballistic Management Defence (4} Ballistic Missile Defence
#. . 3. S vw A A T A o, e R Em it 7

(1) Form Pei= TawiR (2) wenfees Pramsst saeie
(3) wenfees Bawiee fetv (4) aentR= fane b=

-24- A
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_ Who is the author of the book "Speaking for Myself* ?

(1) Cherie Blair (2) Salman Rushdie (3) Mohammad Hanif (4) Hillary Clinton

- “fifie o HdEeS | R & OEE E ¢ 7

97.

98,

99.

100.

101.

111

(1) 30 Brerer (2) e ENd . - (3) WEERES (4) &t Fam

Who among the following won the “India open Grand Prix Badminton Championship™ held in April,
2008 ?

(1) Thailand (2) India (3) England {(4) China

e 3 & Ry o, 2008 3 g Rt i v fiw Sl et wft ¢

(1) wis= (2) ¥R (3) =% (4) =

Silvio Berlusconi, whose name was in news recently, is the '
(1) President of Italy (2) President of Germany

(3) Prime Minister of Italy (4) Prime Minister of France

Torarfaad) wesr, fome A wed d armm A @, §

(1) st & wgafa ) STl (3) =R F WA (4) wra % vame

When is International Women's Day, and United Nations Day for women's Right and International
Peace celebrated 7

(1) March. 4 (2) March, 8 (3) March, 12 (4) March, 15
wrmae e e @@ wftensdi % aftem @ s iR & R dewe g Rea v I 2 7

(1) 7, 4 (2) W, 8 (3) 7,12 (4) Wi, 15

Into how many parts is the Indian constitution divided ? ¢
Wi wiEgE e i § e fenmn g ?

(1) 18 (2) 21 (3) 22 (4) 24

BMD which recently came into news stands for

(1) Business Management Development (2) Ballistic Missile Development

(3) Ballistic Management Defence (4) Ballistic Missile Defence
. . & N 7 @ § wmER A o, e R wimdm R 7

(1) fasmm Figh= saei (2) wenfes free saemi=
(3) weniees T B (4) venfes e R

~24- A
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102.

103.

104.

105.

106.

111

The rate at which banks lend to RBI is known as

(1) Repo rate (2) Reverse rapo rate (3) Interest rate (4) Bank rate

Fer 12w e e T S = 3uw R €, s e

() e (2) il T (3) TR (4) T

*Vijay Hazare Trophy" is associated with the game of

(1) Badminton (2) Football (3) Hockey (4) Cricket
‘T gh e IvERae?

(1) ¥=fmm (2) T (3) g (4) Tz

Pen name 'Beerbal' belongs to

(1) Pramatha Chaudhry (2) Ashpurva Dev  (3) Samaresh Majumdar (4) Samaresh Basu
wEd 3w Wee et '

(1) weren St 2) smEiR (3) TRATYER . (4) GREEY
‘Talchar' is famous for thermal power plant. It is located in which of the following states ?
(1) Assam (2) Bihar (3) Orissa (4) West Bengal
‘T T TR R F Rl st 1w AR At .

(1) mm (2) fER (3) 3= (4) wienf 7re
Which states of India have derived maximum benefits from green revolution ?

(1) Punjab, Haryana and U.P (2) Bihar, West Bengal and Assam

(3) Rajasthan, Gujrat and Maharashtra (4) Tamil Nadu, Andhra Pradesh and Kerala

wE % i st 3 efm = @ arfreras o wra Rrm R 7
(1) Jorme, eftgon o = wen (2) faew, i e w sram
(3) TSR, TE0E, T HERR (4) TR, AFTI & e
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107. Which one of the following is not correctly matched ?
(1) Warsaw — Paland (2) Rotterdam — Australia
{3) Khartoum - Sudan (4) Dublin — Ireland i
fie 1§ Frue e w1 R 7
(1) aRE - T (2) Teren - agfa (3) Ewar - B2 (4) FARH - FRTS d

108. The term “Green Revolution” was given by

(1) Dr. Norman Borlaug (2) Dr. M.S. Swaminathan
(3) Dr. William Gande {4) Sada Shiv Rao
“dr Reregea’ wm R o '
(1) =i. [0 S A (2) 3. W, Ty, W 3
(3) 1. fgm =23 (4) =1, wefiETa 3

109, After independence, recognizing the importance of estimate of National Income and its various ll
components, the Government of India appointed the National Income commrittee in 1949. Who was
the chairman of this committee 7
(1) Dadabhai Naroji (2) Prof. V. K. R. V. Rao |
(3) P. C. Mahalanobis (4) C. D. Deshmukh '1

. l

WIE WUHT 3 Tcea1 e o Se=e, T4 31T e §6e fafe S1aaal & I ) Hewad ) a9wd g s 23R |
4 o wmE wih Fgra @ 1wl e awa se 9 7 ;
(1) T T (2) N A, F. I 6.7\ 0 (
(3) . 9. wwmEifay (4) #. 3. 2@

110. Who invented 'computer laptop’ ?
(1) Sinclair — Britain (2) Arthur Wynna — U.S.A.
(3) Q. Daimler — Germany {4) Lacques Nicolas Conte — France
FAR AR T A s B ?
(1) Rewam - R (2) ST - g, . T '
(3) =9, =guet - Sl (4) T@d e 39 - %g

111 -26- A
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Test - IV
English Language

Directions (Q. 111 — 115) ; In each of the following sentences four words or phrases have been
underlined. Only one underlined part in each sentence is not accepted in standard English. Identify that part

and mark its number 1, 2, 3 or 4 in your answer sheet.

I'11. Gaze for a thing that are not available easily in the country is a universal phenomenon.
i 2 3 4

112, It is foolish 1o be expecting one person to be like another person, for each individual js bomn with his
1 2 3 4

characteristics traits.

113. The tendency o believe that man is inherently dishonest is something that will decried.
1 2 3 4

114. T have not come across very few people who think of thing beyond their daily work.
1 2 3 4

115. He managed 1o board the running train but all his luggages was left on the station.
i 2 3 4

Directions (Q. 116 — 120) : Select the pair of words which are related in the same way as the capitalised
words are related to each other.

116. SCALES : JUSTICE : :
(1) weights : measures (2) laws : courts

(3) torch : liberty (4) launch : peace

117, HOBBLE : WAIK : -

(1) gallop : run (2) stammer : speak (3) stumble : fall (4) sniff ; smell

111 -27- A
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118. FRAYED : FABRIC : :
(1) watered : lawn

(3) thawed : ice

119. YOLK : EGG : :

(1) rind : melon (2} nucleus : cell

120. BAMBQO : SHOOT : :

(1) bean : sproul (2) pepper : com

(2) renovated : building

(4) womn : nerves

(3) stalk : com

(3) oak : tree

(4) web ; spider

(4) holly : sprig

1

Directions (Q. 121 — 125) : For each of the following capitalized words, four words or phrases are given of

which only one is synonymous with the given word. Select the synonym.

121. DEFER

(1) respect (2) dislike
122. DUBIOUS

(1) clear (2) undoubtedly
123. COARSE

(1) impolite (2) rough

124. PROXIMITY

(1) nearness (2) aloofness
125. ABSTAIN
(1) stay - (2) tempt

111

(3) postpone

(3) hesitant

(3) polished

(3) completely

(3) refrain

(4) disrespect

(4) doubtful

(4) improper

(4) nearly

(4) pardon
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Directions (Q. 126-130) :

521

Fill in the blanks by selecting appropriate alternative,

126.

127.

128.

129,

130.

I met him only a week

(1) back (2) past

Lovey asked me

(1) why are yon angry ?

(3) why I was angry 7

Even after repeated warnings, he
(1) never come

(3) is never coming

He told his wife that

(3) ago (4) previous

(2) why 1 am angry ?

(4) why was 1 angry ?

10 office on time.

(2} never comes

(4} have never come

from Germany.

(1) he will like to visit France

(3) he would like to visit France

Some people can

(1) get on (2) get out

(2) he was liking to visit France

(4) he is liking to visit France

even with murder,

{3) get off (4) get away

Directions (Q. 131-135) : Choose the correct antonym from the choises for each of the following
capitalised words !

131. INDIFFERENT

(1) curious (2) varied (3) alike (4) uniform
132. DISCREET

(1) wise (2) diplomatic (3) prudent (4) careless

111
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133. OBSOLETE

(1) free (2) ancient (3) current (4) cultured

134. RATIONAL

(1) sound (2) insane (3) judicious (4) sensible
135. SCEPTICAL
(1) doubtful (2) convinced (3) questioning (4) cinic

Directions (Q. 136-140) : Each sentence has one or two blanks. Choose the word or set of words that best )

completes the sentence meaningfully.

136. He went to the library to find that it was closed.
(1) seldom (2) never (3) only (4) solely
137. The ties that bind us together in common activity are so that they can disappear

at any moment.

(1) tentative (2) tenuous (3) consistent (4) restrictive
138. Her reaction to his proposal was . She rejected it
(1) inevitable —vehemently (2) subtle — violently )
(3) clever — abruptly (4) sympathetic — angrily
139. His directions misled us we did not know which of the two roads to take.
(1) complicated (2) ambiguous (3) narrow (4) fantastic
140. It would be difficult for one so to believe that all men are equal irrespective of

caste, race and religion.

(1) emotional (2) democratic (3) intolerant (4) tiberal

111 -30- A
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Please do not leave your seat because the Examination is not yet over.

Far vl diz 1 BtE Wi e 3 w78 g1 ¥
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1

10,

1

For each question in this Test Booklet, four alternative answers numbered as (1), (2), (3) and {4) are given. Out of these four answers.
only one answer is the correct answezto each question. Your task in these tosts is to find out this carrect answer and 1o show it in your
answer-sheet by blackening with an HLB. Peneil the circle having the alternative number of your choice below the corresponding
serial numbsr of the question. For changing an answer, erase the earlier blackened mark and make a fresh mark in the altermative of
the new choice. For any question, if more than one circles are found blackened, the machine will allor a zero mark for your answer to
thal gquestion.

T TR - QT § W W S A W R (1), (2), (3) #(4) Re e | R Sew ww ot B f sm e awm | mda
# sy e wml we Rreedt H A T ) I e ) I S S TS I, 9 TR~ N arag we-ae A g e
o g A YR § e = I | Iwowee 5 o T g ves T e 1 s v v o ) i o R
e fi e Ry & A A wren A | el e 36 I o o § ol iR ot £ St vl 3w e g

Before beginning to answer the quéstions please make sure that all the entries in your answer-sheet have been duly completed. Any
carelessness in this regard may jeopardize your chances for selection.

TR I 2T D T qhitwa w0 sy B A v Im-ve f wft vl REeaen 3w wm A € i Bl e S
TEEE A s T i e T E |

Refore attempting to answer the questions, do not spend time ta read the whole test. Try the questions on¢ by one and wherever you
are nol sure of the answer, pass on to the next question. Time permitting, you may again try the left out questions. .
T AT A O D G R N G 1 SR A i 1 R e avR T S0 T STen o I | W -0 W 5 A g
MERTEFREFE|

For rough work blank space has been provided on pages 2 and 3] of your Test-Booklet. Don’t mark anywhere else in it.

ol T & R Al whge-ge S YR 2 W@ 3 Waw o A v ) i s P el 3 el |

You have io attempt the Descriptive Test afier the Objective Tests are over. Therefore, do not leave your seat after the Objective Tests
are over.

TS e Y T W R W A 7 W | 35 ST EN W ) s v we )

Note: In case of variation of any kind in the English and Hindi version of any question (s), English version
will be considered as final.

iz : fedl ot s (wel) & W @ Tt waon F feet Wt wEw @ s B @, SO weiaTn W)
Prorfes wET =@ |

Do not open the Test-Booklet, till asked to do so.
ww g% w61 7 7, vdem-gi@mr 7 @ |

32 A



